[T H-1783 1-800-295-5510
MANUAL LIFT TABLE - uline.com
40 x 20"

3
ﬁ(@ D\
G (TP

Cit@E; (@) (

e 0618 PH-1783



[TIAIY[3 H-1783

40 x 20"

1-800-295-5510

MANUAL LIFT TABLE - | Ufine.com
# | DESCRIPTION Qry. ULINE PART NO. MFG. PART NO.
1 Pull Rod 1 H-1783-PLROD SP800-PT#1
2 | Handle Bar 1T | e SPA101
3 | Rod 1 | e SP700-15
4 | Cam 2 | e SP700-14
5 | Retaining Ring 1T | - SP-700-13
6 | Pedal 1 | e SP700-12
7 | Screw M8x20 3 | e GB77-85
8 | Nut M8 4 | e GB41-86
9 | Nut 4 | e SP700-11
10 | Washer 4 | e SPA002
11 | Washer 12 P GB93-1986
12 | Bolt M12x30 P GB5781-2000
13 | Bearing 105 2 | e GBT276-94
14 | Bush 2 | e SP700-10
15 | Bearing 7205 P GB297-64
16 | Bolt M10x35 P GB5781-2000
17 | Nut M10 2 GB41-86
18 | Washer 10 1T | - GB95-1985
19 | Spring T | - SP707-01
20 | Rack of Wheel 1T | e SP707-03
21 | Brake Piece 1 | e SP707-02
22 | Retaining Ring for Axle 17 8 H-1783-22 GB8941-86
23 | Shaft e SP700-05
24 | Washer 8 | - SP700-04
25 | Bearing 60203 8 | e GBT1276-94
26 | Wheel 4 H-1783-RIGID SP700-03
27 | Bolt M8x12 1 | e GB5781-2000
28 | L-Pin 1T | e SP700-02
29 | Frame 1T | e SP703-00
30 | Pump 1 H-1783-PUMP YQO00-700
31 | Shaft 1T | e SPO11
32 | Bush 1T | e SP012
33 | Retaining Ring for Axle 10 1T | s GB8941-86
34 | Screw M8x10 1 | e GB70-85
35 | Washer 8 3 | e GB93-19986
36 | Retaining ring for Axle 20 4 H-1486-4759 GB8941-86
37 | Retaining Ring 1T | s YQ7-700
38 | Shaft L I SP700-07

PAGE 2 OF 3

0618 PH-1783



[TIAIY[3 H-1783

1-800-295-5510

MANUAL LIFT TABLE - | Ufine.com

40 x 20"
# | DESCRIPTION Qry. ULINE PART NO. MFG. PART NO.
39 | Pedal Rod 1 | - SP70201B
40 | Cushion 1T | e SP303
41 | Retaining Ring for Axle 22 4 H-1783-22 GB8941-86
42 | Roller 2 | e SPC704-13
43 | Bolt M8x30 1 | e GB5781-2000
45 | Shaft 1 | e SP700-01
46 | Aim 1 | e SP704-00
47 | Roller 2 | e SP704-15
48 | Table 1 | e SP705-00
49 | Pedal Bar 1 | e SP302-01
51 | Washer 8 1 | e GB95-1985
58 | Retaining Ring 1T | s YQ8-700
59 | Swivel Wheel (Complete) (Not Shown) 2 H-1783SWIVEL |  —eeeeeeees

PAGE 3 OF 3 m!ma CHICAGO « ATLANTA  DALLAS * LOS ANGELES « MINNEAPOLIS + NYC/PHILA  SEATILE » MEXICO « CANADA 0618 PH-1783




